29032 HRHEIE T &L

7= miiEA

M
%48, BEREZI24E DIN 7984 A AERF DIN 985 , #4l,
Ab A = 20.1 A&E4 DIN 931,

K

KLNXBIELE,

B fELiR%2 | BERESERIREFMASARE,
BR:

SETEEL I LUET 180° THRIAE,
BEEXK
ATEENRETFNEMER,

M -

- EFEEMAFE 29050

- A n
] ! 1
i} QI =! !§\i I \Il% _ | %Lua:
|

—

/

- K -
H M

‘ I
— ;

— I
!

L 4 — | | Q

— |
\ i |

i/
29032-512 121 12,1 25 | 26 29,4 30 | 26 27 87 95,5 44 21 37,5 M6x18

© norelem www.norelem.com




29032 45l

~
~

T E]

Bk

29032-514 14,1 14,1 25 29,4 30 | 26 27 87 95,5 44 21 37,5 M6x18
29032-516 16,1 16,1 25 | 26 29,4 30 | 26 27 87 95,5 44 21 37,5 M6x18
29032-518 18,1 18,1 25 | 26 29,4 30 | 26 27 87 95,5 44 21 37,5 M6x18
29032-520 20,1 20,1 45 | 40 42 40 | 40 43 | 138 147 73 33 52 M8x35
29032-525 251 251 45 | 40 42 40 | 40 43 | 138 147 73 33 52 M8x35
29032-530 30,1 30,1 45 | 40 42 40 | 40 43 | 138 147 73 33 52 M8x35
29032-540 40,2 40,2 60 | 56 57 56 | 56 60 | 188 200 100 | 48 69 M10x50

© norelem www.norelem.com



